# **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 6 - Peterhead South and Cruden	
Valid Votes	3,687	
Positions to be Filled	3	
Quota	922	

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Stephen William CALDER	Independent	517
Sam COULL	Independent	273
Alan FAKLEY	Scottish Conservative and Unionist	1,364
Stuart Wallace PRATT	Scottish National Party (SNP)	559
Colin Alexander SIMPSON	Scottish Liberal Democrats	187
Stephen William SMITH	Scottish National Party (SNP)	787
	Total	3,687

Candidate Alan FAKLEY Elected with 1,364 votes, being in excess of the quota of 922

# **Transfers Report**

This report contains the transfers results.

### Stage 2 - Surplus of Alan FAKLEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen William CALDER	313	0.32404	101.42452
Transfer to Sam COULL	242	0.32404	78.41768
Transfer to Alan FAKLEY	0	0.00000	0.00000
Transfer to Stuart Wallace PRATT	24	0.32404	7.77696
Transfer to Colin Alexander SIMPSON	315	0.32404	102.07260
Transfer to Stephen William SMITH	44	0.32404	14.25776
Value of non-transferable ballot papers			138.05048
	Total		442.00000

# **Transfers Report**

This report contains the transfers results.

### Stage 3 - Exclusion of Colin Alexander SIMPSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen William CALDER	108	0.32404	34.99632
Transfer to Stephen William CALDER	66	1.00000	66.00000
Transfer to Sam COULL	75	0.32404	24.30300
Transfer to Sam COULL	40	1.00000	40.00000
Transfer to Alan FAKLEY	0	0.00000	0.00000
Transfer to Stuart Wallace PRATT	10	0.32404	3.24040
Transfer to Stuart Wallace PRATT	13	1.00000	13.00000
Transfer to Stephen William SMITH	17	0.32404	5.50868
Transfer to Stephen William SMITH	21	1.00000	21.00000
Value of non-transferable ballot papers			81.02420

Total

289.07260

# **Transfers Report**

This report contains the transfers results.

### Stage 4 - Exclusion of Sam COULL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen William CALDER	171	0.32404	55.41084
Transfer to Stephen William CALDER	134	1.00000	134.00000
Transfer to Alan FAKLEY	0	0.00000	0.00000
Transfer to Stuart Wallace PRATT	2	0.32404	0.64808
Transfer to Stuart Wallace PRATT	32	1.00000	32.00000
Transfer to Colin Alexander SIMPSON	0	0.00000	0.00000
Transfer to Stephen William SMITH	8	0.32404	2.59232
Transfer to Stephen William SMITH	27	1.00000	27.00000
Value of non-transferable ballot papers			164.06944
	Total		415.72068

# **Transfers Report**

This report contains the transfers results.

### Stage 5 - Exclusion of Stuart Wallace PRATT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen William CALDER	5	0.32404	1.62020
Transfer to Stephen William CALDER	22	1.00000	22.00000
Transfer to Sam COULL	0	0.00000	0.00000
Transfer to Alan FAKLEY	0	0.00000	0.00000
Transfer to Colin Alexander SIMPSON	0	0.00000	0.00000
Transfer to Stephen William SMITH	17	0.32404	5.50868
Transfer to Stephen William SMITH	521	1.00000	521.00000
Value of non-transferable ballot papers			65.53656
	Total		615.66544